
 

Urban Homework 1 

Study Figure 1, a graph showing the change in the urban population of lower income countries 

(LICs) and higher income countries (HICs) between 1950 and 2000.  

 

1) Complete the graph to show that the urban population of LICs in 2000 was 2 billion  

 

2) Using Figure 1, describe the trends shown (2) 

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 

3) Complete the following sentences   (3) 

Urbanisation is the growth in the proportion of people living in ………………………………… 

areas. It is caused by natural increase and by migration of people from ……………………areas. 

People leave such areas because of push factors, including………………………………….. 

4) Suggest two pull factors that encourage people to move to cities (2) 

1:…………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 

2:…………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 

5) Explain how natural increase contributes to urbanisation (3)  

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

……………………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………………… 


